Homework Solutions 10
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" delivering and absrobing power.
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ST L=20010"" i) =4010 " - 20107 *expl-sohuipan = <) = {40107 > - 2010 *-expi=500-)

Vit = |.-%1._[|} = 200107 %20.107 7 {—500) exp(—500.0) = -2 107 - exp(—S00-0) ppit) = vy0-igf0)
VLD = 210 ep(—500.6) prit) = B0-10° "esqp(—500-1) — 40.10° " exp(—1000-1) t:=0,0.00001 . 0.01
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- priti= 0  Fort=0 the inductor is absorbeng power
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6-24 The circult is an inverting Integrator with B .= 20100 C .= 100107 ° B.C=2x 10>
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6-29 The circuit is an inverting differentiator with R := 100.10° € =1010 '* RC=1x 10 °

For vgif) = S-expl—a-t)-ui} in the linear range the oulput is

o] = |-10 “-%5 explcet)| = [5.10" Saxplore)] <15 henee |al < 1" =110®
5.10




6-36 For C!:

-1
1 1
L0+ S 10 B0 410

Cpp=3x10" F

For C2:

L= - ? + ) + !
woig ® 15w 4 om0
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